VCE & PDF https://www.pass4itsure.com/h13-611.html
g 2024 Latest passditsure H13-611 PDF and VCE dumps Download

PassditSure.com

H13-611°%As

HCIA-Storage V5.0

Pass Huawei H13-611 Exam with 100% Guarantee

Free Download Real Questions & Answers PDF and VCE file from:

https://www.pass4itsure.com/h13-611.html

100% Passing Guarantee
100% Money Back Assurance

Following Questions and Answers are all new published by Huawei
Official Exam Center

@ After Purchase

@ Guarantee

O Free Update SKTISFACTION GUARANTEEp
@ Satisfied Customers

H13-611 VCE Dumps | H13-611 Exam Questions | H13-611 Braindumps 1/3


https://www.pass4itsure.com/h13-611.html
https://www.pass4itsure.com/h13-611.html
https://www.pass4itsure.com/h13-611.html

VCE & PDF https://www.pass4itsure.com/h13-611.html
a 2024 Latest passditsure H13-611 PDF and VCE dumps Download
== / PassditSure.com

QUESTION 1

The central backup question is: How much loss can be tolerated determines how much to invest in backup?
A. TRUE

B. FALSE

Correct Answer: A

QUESTION 2

In which layer in the architecture of a typical Big Data processing system does the data mining and business intelligence
process are performed?

A. Application/Presentation Layer.
B. Data Processing Layer

C. Data Analysis Layer.

D. Data Storage Layer.

Correct Answer: C

QUESTION 3
Which of the following statements is NOT true? (Multiple Choice)

A. CIFS is a network-based sharing protocol. It has high demands on network transmission reliability, so it usually uses
TCP/IP.

B. One disadvantage of CIFS is that Windows clients must be equipped with dedicated software.

C. NFS is a stateless protocol while CIFS is a stateful protocol. NFS can be automatically recovered from a fault while
CIFS cannot

D. Both the CIFS as well as the NFS protocol requires file format conversion.

Correct Answer: BD

QUESTION 4
Which is NOT the limitation of DAS, compared with SAN?
A. Poor scalability

B. Large investment
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C. Difficult resource sharing
D. Decentralized management

Correct Answer: B

QUESTION 5

Which of the following is the common physical size division of the surface of the hard disk? (Multiple Choice)
A. Track,

B. Sector.

C. Cylinder.

D. Partition.

Correct Answer. ABC
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